

SHARP MEAN TRIANGLE INEQUALITY

MASATOSHI FUJII, MIKIO KATO*, KICHI-SUKE SAITO†
AND TAKAYUKI TAMURA‡

(Communicated by J. Pečarić)

Abstract. By using a mean operator we shall present some sharp mean triangle inequalities in a Banach space which generalize the sharp triangle inequality with n elements and its reverse one shown recently by the last three authors in [7]. In the course of doing this we shall present a new two element triangle inequality with parameter and its reverse. Several applications will be given.

1. Introduction

In the theory of Banach spaces the triangle inequality is fundamental and important. Many authors considered this inequality (cf. Diaz and Metcalf [1], Dragomir [2], Dunkl and Williams [4], Hudzik and Landes [6], Massera and Schäffer [10], Saitoh [12], Maligranda [8], Kato, Saito and Tamura [7]). In particular Kato, Saito and Tamura [7] proved the following sharp triangle inequality and its reverse: For all nonzero elements x_1, \dots, x_n in a Banach space X

$$\begin{aligned} \left\| \sum_{i=1}^n x_i \right\| + \left(n - \left\| \sum_{i=1}^n \frac{x_i}{\|x_i\|} \right\| \right) \min_{1 \leq i \leq n} \|x_i\| \\ \leq \sum_{i=1}^n \|x_i\| \\ \leq \left\| \sum_{i=1}^n x_i \right\| + \left(n - \left\| \sum_{i=1}^n \frac{x_i}{\|x_i\|} \right\| \right) \max_{1 \leq i \leq n} \|x_i\|. \end{aligned}$$

These inequalities are very useful. Indeed, they were used in [7] to give a simple proof of a characterization of uniform non- ℓ_1^n -ness for a Banach space. After that, several authors improved and generalized these inequalities (cf. Mitani, Saito, Kato and Tamura [9], Dragomir [3], Pečarić and Rajić [11], Hsu, Shaw and Wong [5], etc.).

The aim of this paper is to study sharp mean triangle inequalities in a Banach space, which generalize the above-mentioned inequalities given in [7]. In Section 2

Mathematics subject classification (2010): 46B20, 46B25.

Keywords and phrases: triangle inequality, mean.

,†,‡ The authors are supported in part by Grants-in-Aid for Scientific Research, Japan Society for the Promotion of Science (20540179,‡, 20540158†).

we shall give a new two element sharp triangle inequality with parameter, which in particular provides a simple proof of the two element sharp triangle inequality in [7, 8]. In Section 3 we shall define a notion of a mean operator and using the idea of Section 2, we shall present some sharp mean triangle inequalities. In Section 4 we shall discuss some applications.

2. Two element case

Let X be a Banach space and $x, y \in X$. We define a function $f_{x,y}$ by

$$f_{x,y}(t) = \frac{\|x+ty\| - \|x\|}{t} \quad (t > 0).$$

Then the following lemma is essential in our discussion.

LEMMA 2.1. *For every $x, y \in X$, $f_{x,y}$ is a nondecreasing function on $(0, \infty)$ and $f_{x,y}(t) \leq \|y\|$ for all $t > 0$.*

Proof. Let $0 < s \leq t$. Let $g(t) = \|x+ty\| - \|x\|$ for $t \geq 0$. Then as g is convex and $g(0) = 0$, we have

$$g(s) = g\left(\frac{s}{t}t\right) = g\left(\left(1 - \frac{s}{t}\right)0 + \frac{s}{t}t\right) \leq \frac{s}{t}g(t),$$

whence $\frac{g(s)}{s} \leq \frac{g(t)}{t}$, or $f_{x,y}(s) \leq f_{x,y}(t)$. Further, we have

$$f_{x,y}(t) = \frac{\|x+ty\| - \|x\|}{t} \leq \lim_{s \rightarrow \infty} \frac{\|x+sy\| - \|x\|}{s} = \|y\|$$

for all $t > 0$. This completes the proof. \square

From Lemma 2.1, we immediately obtain the following inequalities which are regarded as a new sharp triangle inequality and its reverse inequality.

THEOREM 2.2. *Let X be a Banach space and $x, y \in X$.*

(i) *Let $0 < s \leq 1 \leq t$. Then*

$$\|x+y\| + \|y\| - f_{x,y}(t) \leq \|x\| + \|y\| \leq \|x+y\| + \|x\| - f_{y,x}(s),$$

or equivalently,

(ii) *Let $0 < \alpha \leq 1 \leq \beta$. Then*

$$\begin{aligned} \|x+y\| + \alpha\|x\| + \|y\| - \|\alpha x+y\| &\leq \|x\| + \|y\| \\ &\leq \|x+y\| + \|x\| + \beta\|y\| - \|x+\beta y\|. \end{aligned}$$

Proof. (i) Since $1 \leq t$, by Lemma 2.1, we have $f_{x,y}(1) \leq f_{x,y}(t)$, that is,

$$\|x + y\| - \|x\| \leq f_{x,y}(t).$$

Thus we have

$$\|x + y\| + \|y\| - f_{x,y}(t) \leq \|x\| + \|y\|.$$

Since $s \leq 1$, we have $f_{y,x}(s) \leq f_{y,x}(1)$ and so we have the second inequality.

(ii) Putting $t = 1/\alpha$ and $s = 1/\beta$, we have (ii) from (i). This completes the proof. \square

By putting $\alpha = \|y\|/\|x\|$ and $\beta = \|x\|/\|y\|$ in Theorem 2.2 (ii), we obtain the sharp triangle inequality and its reverse with two elements ([7, 8]).

COROLLARY 2.3. ([7, 8]). *Assume that $\|x\| \geq \|y\| > 0$. Then*

$$\|x + y\| + \left(2 - \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| \right) \|y\| \leq \|x\| + \|y\| \leq \|x + y\| + \left(2 - \left\| \frac{x}{\|x\|} + \frac{y}{\|y\|} \right\| \right) \|x\|.$$

3. Mean operator and some mean inequalities

Let X be a Banach space and let S be a set. We denote the Banach space of all bounded mappings of S into X by $\ell^\infty(S, X)$ with supremum norm. In particular, if $X = \mathbb{R}$, then we denote it by $\ell^\infty(S)$. An element $\mu \in \ell^\infty(S)^*$, the dual space of $\ell^\infty(S)$, is called a *mean* on $\ell^\infty(S)$ if $\mu(\mathbf{1}) = \|\mu\| = 1$.

We shall state a fundamental fact of a *mean* on $\ell^\infty(S)$.

PROPOSITION 3.1. (cf. [13, Theorem 1.4.1]). *Let μ be a mean on $\ell^\infty(S)$. Then*

(i) *If f is a positive function in $\ell^\infty(S)$ in the sense that $f(s) \geq 0$ for any $s \in S$, then $\mu(f) \geq 0$.*

(ii) *For any $f \in \ell^\infty(S)$, $\inf_{s \in S} f(s) \leq \mu(f) \leq \sup_{s \in S} f(s)$.*

Let μ be a mean on $\ell^\infty(S)$. For any $F \in \ell^\infty(S, X)$, we define a mapping $M_\mu(F)$ from X^* into \mathbb{R} by

$$M_\mu(F)(x^*) = \mu(\langle F(\cdot), x^* \rangle)$$

for every $x^* \in X^*$. Then we have

PROPOSITION 3.2. *Let μ be a mean on $\ell^\infty(S)$. Then M_μ is a bounded linear operator from $\ell^\infty(S, X)$ into X^{**} with the following properties:*

(i) $\|M_\mu\| = 1$.

(ii) *If \mathbf{x} is the constant mapping in the sense that $\mathbf{x}(s) = x$ ($s \in S$) for some $x \in X$, then $M_\mu(\mathbf{x}) = x$.*

Proof. Take any $x^* \in X^*$. Then

$$\begin{aligned} |M_\mu(F)(x^*)| &= |\mu(\langle F(\cdot), x^* \rangle)| \leq \|\mu\| \| \langle F(\cdot), x^* \rangle \| \\ &= \| \langle F(\cdot), x^* \rangle \| \leq \|F\| \|x^*\|. \end{aligned}$$

Thus we have $\|M_\mu(F)\| \leq \|F\|$, that is, $M_\mu(F) \in X^{**}$ and $\|M_\mu\| \leq 1$.

Conversely, for any $x \in X$, we have

$$(M_\mu(\mathbf{x}))(x^*) = \mu(\langle \mathbf{x}(\cdot), x^* \rangle) = \mu(\langle x, x^* \rangle \mathbf{1}) = \langle x, x^* \rangle.$$

Thus we have $M_\mu(\mathbf{x}) = x$ and so $\|M_\mu(\mathbf{x})\| = \|x\| = \|\mathbf{x}\|$. Thus we obtain $\|M_\mu\| = 1$. This completes the proof. \square

In this paper, by Proposition 3.2, we shall call M_μ a *mean operator* on $\ell^\infty(S, X)$ which is a generalization of a mean on $\ell^\infty(S)$.

EXAMPLE 3.3. Let $S = \{1, \dots, n\}$ and let X be a Banach space. Then we consider the standard arithmetic mean on $\ell^\infty(S)$, that is,

$$\mu(f) = \frac{1}{n} \sum_{i=1}^n f(i).$$

Then it is clear that, for every $F \in \ell^\infty(S, X)$,

$$M_\mu(F) = \frac{1}{n} \sum_{i=1}^n F(i).$$

EXAMPLE 3.4. Let X be a Banach space and let μ be a mean on $\ell^\infty(S)$. Suppose that μ is finite in the sense that there exist $s_1, \dots, s_n \in S$ and non-negative numbers $\lambda_1, \dots, \lambda_n$ such that $\sum_{i=1}^n \lambda_i = 1$ and $\mu(f) = \sum_{i=1}^n \lambda_i f(s_i)$ for all $f \in \ell^\infty(S)$. Since

$$\langle M_\mu(F), x^* \rangle = \mu(\langle F(\cdot), x^* \rangle) = \sum_{i=1}^n \lambda_i \langle F(s_i), x^* \rangle = \langle \sum_{i=1}^n \lambda_i F(s_i), x^* \rangle$$

for all $x^* \in X^*$, we obtain

$$M_\mu(F) = \sum_{i=1}^n \lambda_i F(s_i).$$

Therefore we shall obtain the following mean triangle inequality.

THEOREM 3.5. *Let X be a Banach space and μ a mean on $\ell^\infty(S)$. Then for every $F \in \ell^\infty(S, X)$,*

$$\|M_\mu(F)\| \leq \mu(\|F(\cdot)\|).$$

Proof. Let $F \in \ell^\infty(S, X)$. Take any $\varepsilon > 0$. Since $M_\mu(F) \in X^{**}$ by Proposition 3.2, there exists a norm one element $x^* \in X^*$ such that

$$\|M_\mu(F)\| \leq \langle M_\mu(F), x^* \rangle + \varepsilon.$$

Since $\langle F(s), x^* \rangle \leq |\langle F(s), x^* \rangle| \leq \|F(s)\|$ for any $s \in S$, by Proposition 3.1, we have

$$\|M_\mu(F)\| \leq \langle M_\mu(F), x^* \rangle + \varepsilon = \mu(\langle F(\cdot), x^* \rangle) + \varepsilon \leq \mu(\|F(\cdot)\|) + \varepsilon.$$

Since $\varepsilon > 0$ is arbitrary, this completes the proof. \square

For $F \in \ell^\infty(S, X)$ and $\alpha \in \ell^\infty(S)$, we define αF by

$$(\alpha F)(s) = \alpha(s)F(s)$$

for all $s \in S$. Further, for $\alpha, \beta \in \ell^\infty(S)$, we consider the usual order $\alpha \leq \beta$ of $\ell^\infty(S)$ by

$$\alpha(s) \leq \beta(s) \text{ for all } s \in S.$$

Then we have the following monotone property.

PROPOSITION 3.6. *Let X be a Banach space and μ a mean on $\ell^\infty(S)$. For any $F, G \in \ell^\infty(S, X)$, put*

$$U(F, G, \alpha) = \mu(\|(\alpha F)(\cdot)\|) - \|M_\mu(\alpha F + G)\|.$$

If $\alpha, \beta \in \ell^\infty(S)$ such that $\mathbf{0} \leq \alpha \leq \beta$, then $U(F, G, \alpha) \leq U(F, G, \beta)$.

Proof. Let $\alpha, \beta \in \ell^\infty(S)$ with $\mathbf{0} \leq \alpha \leq \beta$ and let $F, G \in \ell^\infty(S, X)$. By Theorem 3.5, we have

$$\begin{aligned} \|M_\mu(\beta F + G)\| - \|M_\mu(\alpha F + G)\| &\leq \|M_\mu((\beta - \alpha)F)\| \\ &\leq \mu(\|((\beta - \alpha)F)(\cdot)\|) \\ &= \mu(\|(\beta(\cdot) - \alpha(\cdot))F(\cdot)\|) \\ &= \mu(\beta(\cdot)\|F(\cdot)\| - \alpha(\cdot)\|F(\cdot)\|) \\ &= \mu(\beta(\cdot)\|F(\cdot)\|) - \mu(\alpha(\cdot)\|F(\cdot)\|) \\ &= \mu(\|\beta(\cdot)F(\cdot)\|) - \mu(\|\alpha(\cdot)F(\cdot)\|). \end{aligned}$$

Then we have

$$\mu(\|(\alpha F)(\cdot)\|) - \|M_\mu(\alpha F + G)\| \leq \mu(\|\beta(\cdot)F(\cdot)\|) - \|M_\mu(\beta F + G)\|.$$

That is, $U(F, G, \alpha) \leq U(F, G, \beta)$. This completes the proof. \square

By Proposition 3.6, we obtain the following sharp mean triangle inequality.

THEOREM 3.7. *Let μ be a mean on $\ell^\infty(S)$. If $\alpha, \beta \in \ell^\infty(S)$ satisfying $\mathbf{0} \leq \alpha \leq \mathbf{1} \leq \beta$, then*

$$\begin{aligned} \|M_\mu(F+G)\| + \mu(\|(\alpha F)(\cdot)\|) + \mu(\|G(\cdot)\|) - \|M_\mu(\alpha F+G)\| \\ \leq \mu(\|F(\cdot)\|) + \mu(\|G(\cdot)\|) \\ \leq \|M_\mu(F+G)\| + \mu(\|F(\cdot)\|) + \mu(\|(\beta G)(\cdot)\|) - \|M_\mu(F+\beta G)\|. \end{aligned}$$

for all $F, G \in \ell^\infty(S, X)$.

Proof. Since $\mathbf{0} \leq \alpha \leq \mathbf{1}$, by Proposition 3.6, we have

$$U(F, G, \alpha) \leq U(F, G, \mathbf{1}).$$

That is,

$$\mu(\|(\alpha F)(\cdot)\|) - \|M_\mu(\alpha F+G)\| \leq \mu(\|F(\cdot)\|) - \|M_\mu(F+G)\|.$$

Thus, we have

$$\|M_\mu(F+G)\| + \mu(\|(\alpha F)(\cdot)\|) + \mu(\|G(\cdot)\|) - \|M_\mu(\alpha F+G)\| \leq \mu(\|F(\cdot)\|) + \mu(\|G(\cdot)\|).$$

Since $\mathbf{1} \leq \beta$, by Proposition 3.6, we have

$$U(G, F, \mathbf{1}) \leq U(G, F, \beta).$$

Thus, we similarly have the second inequality. This completes the proof. \square

By Theorem 3.7, we obtain a sharp mean inequality.

COROLLARY 3.8. *Let μ be a mean on $\ell^\infty(S)$. If $F \in \ell^\infty(S, X)$ such that $\inf_{s \in S} \|F(s)\| > 0$, then*

$$\begin{aligned} \|M_\mu(F)\| + \left(1 - \left\|M_\mu\left(\frac{F}{\|F(\cdot)\|}\right)\right\|\right) \inf_{s \in S} \|F(s)\| \\ \leq \mu(\|F(\cdot)\|) \\ \leq \|M_\mu(F)\| + \left(1 - \left\|M_\mu\left(\frac{F}{\|F(\cdot)\|}\right)\right\|\right) \sup_{s \in S} \|F(s)\|. \end{aligned}$$

Proof. In the first inequality of Theorem 3.7, we put $G = \mathbf{0}$ and $\alpha(s) = \frac{\inf_{t \in S} \|F(t)\|}{\|F(s)\|}$ for all $s \in S$. Then we have the first inequality of this corollary. Similarly, putting $F = \mathbf{0}$ and $\beta(s) = \frac{\sup_{t \in S} \|G(t)\|}{\|G(s)\|}$ for all $s \in S$ in the second inequality of Theorem 3.7, we have the second one and this corollary. \square

4. Applications

Let $S = \{1, \dots, n\}$ and let X be a Banach space. As in Example 3.3, we define a finite mean μ on $\ell^\infty(S)$ by

$$\mu(f) = \frac{1}{n} \sum_{i=1}^n f(i)$$

for all $f \in \ell^\infty(S)$ and obtain

$$M_\mu(F) = \frac{1}{n} \sum_{i=1}^n F(i)$$

for all $F \in \ell^\infty(S, X)$. For $\alpha = (\alpha_1, \dots, \alpha_n) \in \ell^\infty(S)$ and $F \in \ell^\infty(S, X)$ (resp. $F \in \ell^\infty(S)$), we define the notation $\alpha \cdot F$ by $\alpha \cdot F = \sum_{i=1}^n \alpha_i F(i)$, and $\|F\|_1 = \sum_{i=1}^n \|F(i)\|$. By Theorem 3.7, we have the following theorem.

THEOREM 4.1. *Let X be a Banach space and let $\alpha = (\alpha_1, \dots, \alpha_n)$, $\beta = (\beta_1, \dots, \beta_n) \in \ell^\infty(S)$ with $\mathbf{0} \leq \alpha \leq \mathbf{1} \leq \beta$. Then*

$$\begin{aligned} \|\mathbf{1} \cdot (F + G)\| + \alpha \cdot (\|F(1)\|, \dots, \|F(n)\|) + \|G\|_1 - \|\alpha \cdot F + \mathbf{1} \cdot G\| \\ \leq \|F\|_1 + \|G\|_1 \\ \leq \|\mathbf{1} \cdot (F + G)\| + \|F\|_1 + \beta \cdot (\|G(1)\|, \dots, \|G(n)\|) - \|\mathbf{1} \cdot F + \beta \cdot G\| \end{aligned}$$

for all $F, G \in \ell^\infty(S, X)$.

Equivalently, if we put $F = (x_1, \dots, x_n)$, $G = (y_1, \dots, y_n) \in \ell^\infty(S, X)$, then

$$\begin{aligned} \left\| \sum_{i=1}^n (x_i + y_i) \right\| + \sum_{i=1}^n \alpha_i \|x_i\| + \sum_{i=1}^n \|y_i\| - \left\| \sum_{i=1}^n (\alpha_i x_i + y_i) \right\| \\ \leq \sum_{i=1}^n \|x_i\| + \sum_{i=1}^n \|y_i\| \\ \leq \left\| \sum_{i=1}^n (x_i + y_i) \right\| + \sum_{i=1}^n \|x_i\| + \sum_{i=1}^n \beta_i \|y_i\| - \left\| \sum_{i=1}^n (x_i + \beta_i y_i) \right\|. \end{aligned}$$

Proof. For any $F, G \in \ell^\infty(S, X)$ and $\alpha \in \ell^\infty(S)$,

$$\begin{aligned} \|M_\mu(F + G)\| &= \left\| \frac{1}{n} \sum_{i=1}^n (F(i) + G(i)) \right\| = \frac{1}{n} \|\mathbf{1} \cdot (F + G)\|, \\ \mu(\|\alpha F(\cdot)\|) + \mu(\|G(\cdot)\|) &= \frac{1}{n} \left(\sum_{i=1}^n (\alpha_i \|F(i)\| + \|G(i)\|) \right) \\ &= \frac{1}{n} (\alpha \cdot (\|F(1)\|, \dots, \|F(n)\|) + \|G\|_1) \end{aligned}$$

and so on. By Theorem 3.7, we clearly have this theorem. \square

By Theorem 4.1, we have the following corollary.

COROLLARY 4.2. ([7]). *Let X be a Banach space and let x_1, \dots, x_n be nonzero elements in X . Then*

$$\begin{aligned} & \left\| \sum_{i=1}^n x_i \right\| + \left(n - \left\| \sum_{i=1}^n \frac{x_i}{\|x_i\|} \right\| \right) \min_{1 \leq i \leq n} \|x_i\| \\ & \leq \sum_{i=1}^n \|x_i\| \\ & \leq \left\| \sum_{i=1}^n x_i \right\| + \left(n - \left\| \sum_{i=1}^n \frac{x_i}{\|x_i\|} \right\| \right) \max_{1 \leq i \leq n} \|x_i\|. \end{aligned}$$

Proof. Take x_1, \dots, x_n in X . In Theorem 4.1, we put $F = (x_1, \dots, x_n)$, $G = \mathbf{0}$ and $\alpha_i = (\min_{1 \leq j \leq n} \|x_j\|) / \|x_i\|$ for every $1 \leq i \leq n$. Then we have the first inequality. For the second inequality we put $F = 0$, $G = (y_1, \dots, y_n)$ and $\beta_i = (\max_{1 \leq j \leq n} \|y_j\|) / \|y_i\|$, $1 \leq i \leq n$. \square

An element $\mu \in \ell^\infty(\mathbb{N})^*$ is called a *Banach limit* if $\liminf_{n \rightarrow \infty} u_n \leq \mu(\{u_n\}_{n=1}^\infty) \leq \limsup_{n \rightarrow \infty} u_n$ and $\mu(\{u_n\}_{n=1}^\infty) = \mu(\{u_{n+k}\}_{n=1}^\infty)$ for all $k \geq 1$. If μ is a Banach limit, then μ is a mean on $\ell^\infty(\mathbb{N})$. Then we have

THEOREM 4.3. *Let X be a Banach space and let $\mu \in \ell^\infty(\mathbb{N})^*$ be a Banach limit. If $\alpha = \{\alpha_n\}_{n=1}^\infty, \beta = \{\beta_n\}_{n=1}^\infty \in \ell^\infty(\mathbb{N})$ with $\mathbf{0} \leq \alpha$ and $0 < \limsup_{n \rightarrow \infty} \alpha_n \leq 1 \leq \liminf_{n \rightarrow \infty} \beta_n$, then*

$$\begin{aligned} & \|M_\mu(x+y)\| + \mu(\{\|\alpha_n x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty) - \|M_\mu(\alpha x + y)\| \\ & \leq \mu(\{\|x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty) \\ & \leq \|M_\mu(x+y)\| + \mu(\{\|x_n\|\}_{n=1}^\infty) + \mu(\{\|\beta_n y_n\|\}_{n=1}^\infty) - \|M_\mu(x + \beta y)\| \end{aligned}$$

for all $x = \{x_n\}_{n=1}^\infty, y = \{y_n\}_{n=1}^\infty \in \ell^\infty(\mathbb{N}, X)$.

Proof. For any ε with $0 < \varepsilon < \limsup_{n \rightarrow \infty} \alpha_n$ there exists k such that $0 \leq \max\{\alpha_n - \varepsilon, 0\} < 1 < \beta_n + \varepsilon$ for all $n \geq k$. Since μ is translation-invariant and so $M_\mu(z) = M_\mu(z')$ for any $z = \{z_n\}_{n=1}^\infty \in \ell^\infty(\mathbb{N}, X)$, where $z' = \{z_{k+n}\}_{n=1}^\infty$, we may assume that $\gamma(\varepsilon)_n := \max\{\alpha_n - \varepsilon, 0\} < 1 < \beta_n + \varepsilon$ for all $n \geq 1$. Applying Theorem 3.7 to $x = \{x_n\}_{n=1}^\infty$ and $y = \{y_n\}_{n=1}^\infty$, we have

$$\begin{aligned} & \|M_\mu(x+y)\| + \mu(\{\|\gamma(\varepsilon)_n x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty) - \|M_\mu(\gamma(\varepsilon)x + y)\| \\ & \leq \mu(\{\|x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty) \\ & \leq \|M_\mu(x+y)\| + \mu(\{\|x_n\|\}_{n=1}^\infty) + \mu(\{\|(\beta_n + \varepsilon)y_n\|\}) - \|M_\mu(x + (\beta + \varepsilon)y)\|. \end{aligned}$$

Letting $\varepsilon \rightarrow 0$, we have

$$\begin{aligned} & \|M_\mu(x+y)\| + \mu(\{\|\alpha_n x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty) - \|M_\mu(\alpha x + y)\| \\ & \leq \mu(\{\|x_n\|\}_{n=1}^\infty) + \mu(\{\|y_n\|\}_{n=1}^\infty), \end{aligned}$$

because by Proposition 3.1

$$\begin{aligned} |\mu(\{\|\gamma(\varepsilon)_n x_n\|\}_{n=1}^\infty) - \mu(\{\|\alpha_n x_n\|\}_{n=1}^\infty)| &= |\mu(\{\|\gamma(\varepsilon)_n x_n\| - \|\alpha_n x_n\|\}_{n=1}^\infty)| \\ &\leq \mu(\{\|(\gamma(\varepsilon)_n - \alpha_n)x_n\|\}_{n=1}^\infty) \\ &\leq \|\gamma(\varepsilon) - \alpha\|_\infty \mu(\{\|x_n\|\}_{n=1}^\infty) \\ &\leq \varepsilon \mu(\{\|x_n\|\}_{n=1}^\infty) \end{aligned}$$

for instance. Similarly we have the second inequality. This completes the proof. \square

In Theorem 4.3, put

$$y = 0 \text{ and } \alpha = \left\{ \frac{\liminf_{n \rightarrow \infty} \|x_n\|}{\|x_n\|} \right\}_{n=1}^\infty$$

and

$$x = 0 \text{ and } \beta = \left\{ \frac{\limsup_{n \rightarrow \infty} \|x_n\|}{\|x_n\|} \right\}_{n=1}^\infty$$

in the first and second inequalities, respectively. Then we obtain the following

THEOREM 4.4. *Let X be a Banach space, $\mu \in \ell^\infty(\mathbb{N})^*$ a Banach limit and $\{x_n\}_{n=1}^\infty \in \ell^\infty(\mathbb{N}, X)$ such that $\liminf_{n \rightarrow \infty} \|x_n\| > 0$. Then*

$$\begin{aligned} \|M_\mu(\{x_n\}_{n=1}^\infty)\| + \left(1 - \left\|M_\mu\left(\left\{\frac{x_n}{\|x_n\|}\right\}_{n=1}^\infty\right)\right\|\right) \liminf_{n \rightarrow \infty} \|x_n\| \\ \leq \mu(\{\|x_n\|\}_{n=1}^\infty) \\ \leq \|M_\mu(\{x_n\}_{n=1}^\infty)\| + \left(1 - \left\|M_\mu\left(\left\{\frac{x_n}{\|x_n\|}\right\}_{n=1}^\infty\right)\right\|\right) \limsup_{n \rightarrow \infty} \|x_n\|. \end{aligned}$$

Acknowledgements. The authors wish to express their sincere thanks to the referee for his valuable suggestion and comments.

REFERENCES

- [1] J. B. DIAZ AND F. T. METCALF, *A complementary triangle inequality in Hilbert and Banach spaces*, Proc. Amer. Math. Soc., **17** (1966), 88–97.
- [2] S. S. DRAGOMIR, *Reverses of the triangle inequality in Banach spaces*, J. Inequal. Pure and Appl. Math., **6**, 5 (2005), Art. 129, pp. 46.
- [3] S. S. DRAGOMIR, *Generalizations of the Pečarić-Rajić inequality in normed linear spaces*, Math. Inequal. Appl., **12** (2009), 53–65.

- [4] C. F. DUNKL AND K. S. WILLIAMS, *A simple norm inequality*, Amer. Math. Monthly, **71** (1964), 53–54.
- [5] C.-Y. HSU, S.-Y. SHAW AND H.-J. WONG, *Refinements of generalized triangle inequalities*, J. Math. Anal. Appl., **344** (2008), 17–31.
- [6] H. HUDZIK AND T. R. LANDES, *Characteristic of convexity of Köthe function spaces*, Math. Ann., **294** (1992), 117–124.
- [7] M. KATO, K.-S. SAITO AND T. TAMURA, *Sharp triangle inequality and its reverse in Banach spaces*, Math. Inequal. Appl., **10** (2007), 451–460.
- [8] L. MALIGRANDA, *Simple norm inequalities*, Amer. Math. Monthly, **113** (2006), 256–260.
- [9] K.-I. MITANI, K.-S. SAITO, M. KATO AND T. TAMURA, *On sharp triangle inequalities in Banach spaces*, J. Math. Anal. Appl., **336** (2007), 1178–1186.
- [10] J. L. MASSERA AND J. J. SCHÄFFER, *Linear differential equations and functional analysis I*, Ann. of Math., **67** (1958), 517–573.
- [11] J. PEČARIĆ AND R. RAJIĆ, *The Dunkl-Williams inequality with n elements in normed linear spaces*, Math. Inequal. Appl., **10** (2007), 461–470.
- [12] S. SAITOH, *Generalizations of the triangle inequality*, J. Inequal. Pure Appl. Math., **4**, 3 (2003), Art. 62, pp. 5.
- [13] W. TAKAHASHI, *Nonlinear Functional Analysis*, Yokohama Publishers, Yokohama, 2000.

(Received May 9, 2008)

Masatoshi Fujii
 Department of Mathematics
 Osaka Kyoiku University
 Kashiwara, Osaka 582-8582
 Japan

e-mail: mfujii@cc.osaka-kyoiku.ac.jp

Mikio Kato
 Department of Basic Sciences
 Kyushu Institute of Technology
 Kitakyushu 804-8550
 Japan

e-mail: katom@tobata.isc.kyutech.ac.jp

Kichi-Suke Saito
 Department of Mathematics
 Niigata University
 Niigata 950-2181
 Japan

e-mail: saito@math.sc.niigata-u.ac.jp

Takayuki Tamura
 Graduate School of Humanities and Social Sciences
 Chiba University
 Chiba 263-8522
 Japan

e-mail: tamura@le.chiba-u.ac.jp